
1. 7l1~ 8'il!! - ;l;1*ti*2.1 £:Iti* (2~) ~ ® 

(-tf-H/2)'=(-S) X+=-'-l 

2. "I~ gll- tI.~ .:taR!!. (2~) ~ ® 

A-B=(~ i)-(~~)=( -i ~) 
A'-AB=A(A-B) 

='(0 1)( -2 	 0)=( 1 1)
2 1 1 1 -3 1 


n:J-2j-"i. "il'ill. A'-AB2.J 5'.~ "S.¥:2.J ~~ 

1+1+(-3)+ l=oolc}, 


3. "I~ gi!J - tt*21 :t!t~ 2:1. (2~) ~ @ 

rx'-5x+6 lim (x-Z)(x-3)
1m, 	?-2x .-, x(x-2) 


=olim x - 3 =_1:. 

z-z x 	 2 

4. 	7l1~ ~i!J - Cftiti*21 1I1~~ (3~) ~ @ 
j(x)=(x'-I)(2x+ 1)"I]J.i 

j'(x) =2x(2x+ 1) +2(x2-1) =6x'+ZX-Z 

:. j'(1)=6+2-2=6 

5. 	"I~ !!Sill - ;l;1*ti*2.1 .£.:r.ti* (3~)~® 
(log, x)'-log,x-2 =O"l]J.i 

(log,x+ 1) (log,x-2) =0 


log,x=-1 !E~log4x=2 


, - l!E'- -16"x-T 'L:X­

:. aP'=t x 16=4 

6. *. 21'51 ~Ail iiH?i! gil!! - ~. (3~) ~ CD 
10~2.J EJ1'Ii5'- %0j-21 ~i'd %"II"i EJ1'Ii5'- ii''11''11 ~ 

7j-~4~2.J ~i'd% ~2.J5'-~ 1-}2.J * 
10X9x8x7 

1OC,= 4x3xzx1 Z10 

A, B. C7j- 5'.1f. EJ1'Ii5'- ii''11<>11 ~7j-15N 15j-ES.. A, 

B, C~ ~~~ 7~2.J EJ1~5'- %0j-21 ~i'd %"II"i 

1'i!~~~f.~2.J.£ ~ 1-}2.J * 


,C,=7 


~bL).J ~15L'- .,L",_O ~_~olrL
'"1 "1, '1, -, r= "'l"-;::- 210 - 30 '-1. 

7. *. 2111 @~IIII~ l!!ti!J - A,. (3~) lm CD 
K.Jl%'8j-:ii1. 't:t'8j-"»2.J ~~~~'r!*X2j- 15P;>! 

X~ 78'IT-.¥:¥. N(63, 4')% nf.ec}, 

:. P(59:S;X:S;65)=pe9~63 :S;Z::;' 65~63) 

=P(-1:S;Z:S;0.5) 

=P(O:S;Z:S;l)+P(0::;'Z:S;0.5) 

=0.3413+0.1915=0.5328 

8. 011lli!J - ttttti*21 1I1@1!I 
j(x)=x'-3x'+a<>1l"1 

j'(x)=3x'-6x=3x(x-2) 


j'(x) =0<>11"1 


x=0!E~x=2,,* j(x) 2.J %7j-Q} trJ::~ .l±..5'. Lj-E}tJll\'! l:}%J!} ~ 

c}. 

x o , 2 4 
j'(x) o o + 
j(x) a '\. a-4 / a+16 

~~ Tn [0, 41<>1l).lW4'-j(x)~ x=2'lJ rrJI ,i]4:iiJ: 
a-4~$!'.Jl, x=4~ rrJI ,i]9!iiJ:a+16% $!'~c}. 
°lrrJI, * j(x)2.J ~4:iiJ:01 -lOOIES.. 
a-4=-10 

:. a=-6 

n:J-2j-"i. ~ j(x)2.J ~9!iiJ:.g. -6+16=1001c}. 

9. 	013Hil!! - ;l;1*ti*2.1 5.:tti* (3~) ~ ® 
j(mn) =0% 'tl'4'j').I7'It;]l\'! mn=10' (t~ %01 oj-t:! 

784'-)2.J ~oIOio]: ~c}. 
m, n.g.100.!2.q.tt.g. 7:j-'114'-0IES.. 

mn=l !E~mn=10 .!E.~mn=100 .!E.~mn=1000 

°IOi°]:~q. 

mn=l'lJrrJI, 

~).w (m,n).g. (1~ 1).£ 17flolq. 


mn=10'lJ lIJI, 

~A1~ (m, n).g. (1,10), (2,5), (5, 2), (10, 1)5'.4 


7flolt:}. 


mn=100'lJ triI, 

~).i"'J (m, n).g. (2.50), (4, 25), (5,20), (10, 10), 


(20.5), (25,4), (50,2)5'. 77fl01 t:}. 


mn=1000'lJ triI, 

~).i~ (m, n).g. (20, 50), (25,40), (40,25), 


(50, 20)2...£ 47fl01 C}, 


n:J-2j-"i, T 15re ~"i"'J (m, n)2.J 7fl* 


1+4+7 +4=16 0 1c}. 


10. 011lli!J - W*21:t!t~ ~4i (3~) ~ @ 

'. (~) ._!iPr_og(x)=-l, .1i!\\og(x)=-1°1ES.. 

}i.~,g(x)=-l 

L. (7]'3!) .!!w'. (f(x)+g(x)} = (-1)+ 1=0 

c. @W*j(x)g(x)7j-x=loJl).i '114c0IPll\'! 

.!!If.!/(x)g(x) = .!!W/(x)g(x)=j(l)g(l) 

°IOio]:~q. 

.:iJ. 3 - 2015 - f1?4o -9i1-~~ ~'~H~ 

}!If.!/(x)g(x) = .!!If.!/(x) x .!il{l.og(x) 

=lx (-1)=-1 

.!!W/(x)g(x) = }!W/(x) x .!iN.g(x) 

=( -1) x 1=-1 

j(l)g(l) =(-1) x 1=-1 

°1ES.. wj(x)g(x)i=-x=I"1I).i 'rl.4c°lq. 

11. 	013Ri!J - XI*ti*2.1 £:Iti* 
j(-1)=j(2) =001ES.. 

j(x)=a(x+1)(j;-2)(a~ ~4'-).£ *% *' :v,CJ.. 
j(O)=:-l°lES.. 

a(0+1)(0-2)=-1, -2a=-1 
. _1 .. a-Z 

:. j(x)=t(X+l)(X-2) 

log./(x):S; 1"I]J.i 

j(x):S;2 

+(X+1)(X-Z)::;'Z 

x'-x-2::;'4, x'-x-6::;'0 

(x+2)(x-3) :S;O 
:. -Z::;'x::;'3 ............................................. CD 
0ltril,.£.:r.2.J ~4'-3::{!<>1I2.J15]-oj j(x»oolES.. 
1 ' 
Z(x+ l)(x-Z) >0 

:.x<-l.!E.~x>Z .................................... (1:) 


CD, (1:)"11"'1 
'-Z::;'x< -1 !Ei=-2<x:S;3 

n:J-2j-).1, T 15re 784'- x.e -2,32...£ 27flOlq. 

12. OI"HIl - *1!I2I :t!t (3~) [~J @ 
an = (-1)" x noJl).i 

S'n_,=(-1)+2}+( -3) H}+'" 
+( -(2n-3)+(2n-2)}-(2n-1) 

=lx (n-1)-(Zn-1)=-n 

S'n=[( -1)+2}+[(-3) H}+'" 

+[-(2n-1)+Zn} 

=lxn=n 

lim' S,n-1 = lim -n 1 

n-oo a'n-1 n-~ - (2n -1) 2 


lim S'n = lim.11.,. =1:. 
n ...... oo a2n 1/- co 2n 2 

:. lim 5. =1:. 
n-OJ an 2 

13. OI&HI4 - *1!I2I :t!! (3~) ~ @ 

1f. {l An, B.2.J x;;<,}lf.~ ZfZf an, P'n ° 12} 15}l;>j 

A.(a., an+n), B.(P'n, P'.+n) 

°12, a~, P'n.g. "H~ j(x)=x+n2.J 1f. -2'°Ic}. 

x'-zx=x+n<>1l).1 

x'-3x-n=0 

-2'j]} ;!Ji9-2.J -¥!;!JioJl 2j15}<>l 

an+P'.=3.a.P',,= -n 
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... an=AnB:=(a.-:-p~)'+{(a.+n)'--(P.+n)}2 
=2(a,,-p,,)' ' . 

=Z((an +Pn)2- 4a.p'.1 
=Z(9+4n) 
=Sn+1S 

. n n n(n+1) 
.. 'E,a.= 'E,(Sk+1S)=SX--z-+1Sn 

=4n'+ZZn 

ta, '+lim k=' = lim 4n Z2n =4 
n2 n2tI--:O<> n--o:c 

*tt LII!I ~~I ~H~ 's~ - q~~*21 !I~\Il 
(41]) ~ ® 

+ (n-1)}lg 2n n 

( 1 )' n-' (k) 1 
=g 2 - 'Eog 2n n 

. l' g - (k-1)} nk
..•!!I.!, .=,t ( ( 2nk) g 2n 


= lim (g(l)_ '~'g(~)l}

n-oo 2 '=0 Zn n 

=g(+)-l'g(~-x)dx 

=-136-l'C16x4-+x3)dx 

_ 3 [1 5 1 'j'--16- 80 x -16x 0 

3 (1 1) 11 
=- 16 -c- 80 -16 =-80 

15. *tt LII!I ~Xil ~H~ 'sE!l - q~~*21 ~~~ 

(41l) 00!l ® 
j(x)=x'+ax'+bx+c(a, b, c!c AJ--~)2.]- i5}'i"! 
j'(x)=3x'+2ax+b ' 

5:.~,(7)-)ojl),i j'(Z)=oojE.5!. 

12+4a+b=0 

... 4a+b= -1~ ......................................... 15) 


5:.~ (t..]')ojl)'i jj'(x)dx=6 0 1E.5!. 


j(1)-j(-l) =6 
2b+2=6 

... b=2 

. 7 ( .. '-'>, .. a=-2' ·0) 

... j'(x)=3x2-7x+2 ' 
:. j'(1)=3-7+2=-2 

16. olaK~ - 1:1"*9.1 CI~\Il (41l) ~ ® 
y=x'+lojl),l y'=zxol:9-", .Jfkl y=x2+1 q:]21 
~ (t, t'+l)ojJAi21 ~kl21 'lY"il~.g. 
y-(f+l)=2t(x-f), ~y=Zfx-tz+1 
01 ~klol ~ (a, a)~ Alt+0t i5}E.5!. 
a=2ta-t'+1 

t2-Zat+a-1=0 ....................................... 15) 


~ (a, a)ojl),i .Jfkl y=x'+loJ1.:l.g.!f- ~kl21 ~~ 

21 x~ll{l- zj-zj- a, P2.]- i;t'i"! a, P!c 15)9.I!f- -2-01:9­

'" -2-:ll} 7-I1"?21 ~7-IIoJI 21i;J-<xl 
af3=a-1 ................................................... © 


!E, .!f- ~kl21 71%71!C zj-zj- 2a, 2f3ol.TI, .!f- ~klol 
)'i", "?3J olE.5!. 
2a X2f3=-1 

:. af3=-+ 

... a-1=-+ (': ©) 

. 3 .. a=T 

, (ti) nol ~"?1l rr]1, 

n=Zm (m.g. At~,,?)ol2.]- i;t'i"! 
S'm+l=a.+ (a; +a3) +(a,+a5) +... 

+ (a,m+ a2rn+l) 
=1'+3'+52+ ... + (Zm+ 1)' 

m+l m+l = 2::: (2k-1)'= 2::: (4k2-4k+ 1)
k=l k=l 

(m+1)(2m+ 1)(2m+3) 
3 

. a;m+l=S2;';~1''-S2tn 
(m+ 1)(2m+ 1)(2m+3) 

3 

Zm(m+1)(Zm+1) 
3 

-1(m+1)(2m+1) 1 

lz2m==S2m-Szm-l 
2m(m+ 1)(2m+ 1) m(Zm-1)(2m+ 1) 

3 3 

- 'Im"('="'Zm-+7"C1")1 

:. «-=1 n(n:1) I 

(m+ 1)(Zm+l)(2m+3) 
:.j(m) 3 

g(m)=(m+1)(2m+1) 

h(m)=m(2m+1) 


i(n)= n(n+ 1) 
2 

.·.j(5)+g(6)+h(7)+i(S) 

6X1;X13 +7x13+7x15+ S;9 

=2S6+91+ 105+36=518 

18. $l! 's5!l($~) - ljgit!~ .:J.ZII~ [41l1 ~ ® 
'. (1})A'B+2A=EoJiAi 

A(AB+2E)=E 
:.k'=AB+2E 
u:J-2.]-)'i, il,ll~ A21 ~il,ll~ol ~Am,*. 

L. 	(~) k'=AB+2E"1I),i 

Ak'=AAB+2A, k'A=ABA+ZA 

01E.5!. 
AAB+zA=ABA+2A 

AAB=ABA 

A-'AAB=A-'ABA 


".AB=BA 
c. (~) 2A'=B'ojVi 

A'=+B' ................................................ 15) 

A'B+ZA=EoJI),i 


+B'+2A=E (': 15) 


B'=2(E-ZA)=2E-4A 


:. A'+B'=(+B')'+ B'=i-B6=i-(B')' 

=i-(4A-ZE)' 

=lS(A-+E)' 
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19. 018H11 - *'121 it!! [Hl)~ @ 

,. . 2 

LAPIBI= LBIOICI= LCIOIAI=371"01~ 


SI=2 X(+X 1 x 1 x sint71")+(+X l'Xt71") 


= [3 +-"­
2 3 


-%l O~~ -NI%O., 1ftAI~~~ol~ r.olc} ii}A}. 

.::Lifl1!]- {[oJ ~ O'+1~ ~1l O'+1"1I)'i 1!.~ A.c.oJI 
Yli(! 9-1!.~ ~% HnolC} ii}'l1 

Ano.n+l=.2rn-rn+1! On+lHn=rn+h 

LO.+IA.H·=f 

°l~ 3jzJ-1j-zJ--<§ AnOn+1H.oJI)'i 

A.On+1 : O'+IH.=Z : 1 

(2rn-rn+1) : r'+1=2 : 1 


21,,+1 =2r",-r1$+1 1 3r"+1=2r. 

. 2 

.. rn+l=~n 

1r]-cf)'i,9-'€! (SJ.g. ;;!~~I'r; +%. .:g.1l17} 

(-f)'=f~ %1l19-'€!°1~ 
[3+...':.

f; Sn=-2-_3 
.~I 1-.1. 

9 


9[3+671"
=--10­

20. 018111 - lie [HD ~ CD 
107fl~ .:g.ol %01 V-l::- df'n1t.1oJ1)'i 'fI~S>- 37fl~ .:g. 
%%AI"117l1Yl-l::-7cl~~ * 

lOX 9x8 
IOC3= 3x2X 1 =120 

01IT11. :?o.{! (7})~ 'i'l-~),17IaJ'l1 a. b. c7 } 5'..-"F-~ 
01714 ~ 7fl-l::- ~9-. -"F- 7fl-l::- ~oloJ°F ~cf. 
(i) a. b, c7 } 5'..-"F- '1!)-9-~ 7cl~ 

abc7} 6~ uH9-°laJ'l16°1 3j~ V-l::- M1ftE.AI 
1!.1§!j~oF ,;-}~ 2. 4. 8. 1001 3j~ Vi::-.:g. %-"11 
),i -"F- 7fl~ 1!.1ll!"B"r-e-7cl~91 * 
,C,=6 

(ii) a, b, c7 } ~ 7fli:: ~9-. -"F- 7fli:: *~ 7cl~ 

2.4.6.8. 10oJl)'i ~ 7fl. I, 3. 5, 7. 9oJ1)'i -"F- 7H~ 
1!.1§!j"B"r-e-7cl~olcf. 

~"11),i 601Aj1§!j£]'l1, ~oJIAi 'fI~S>- -"F- 7H~ 
ll1ll!~oF"B"}~ 

.C,"=lO 
~9-oJIAi60lo}'d <?7} ll1ll!£]'l1~oJI),i 3joJ 
.£ ~7fl-l::-3~ aH~ll1ll!5Jl°Fii}E,S>-

,CIX (.C,-.C.)=4x7=28 

€f. T"B"r-e- ~~~* 10+28=380Icf. 


rrL';'l).J :::1."B"''-- '''''-'''.0 6+38 = QOlrL 

"1'f'I, , =."9= 120 30"'" 


21. *~ LfI~ ~~I 8H~ ~i!! - ;l:1*tt*21 :snw* 
[Hl) ~ CD 

1 ( ') ( ) 1 n(n+l)og, n +n -log, 5n+5 = og, 5(n+1) . 

I n. 
= og25 

(i) 1:::n:::5~ IT11. 

'log,(n'+n):::log,(5n+5)ol~ 


AncBn 

:. an=O 


(ti)n>5~1111, 

l~g, (n'+n) >log, (5n+5)01~ 


A.-B. 

=(n, k) Ilog, (5n+5) <k:::log, (n'+n). 


k-l::- A}~9-) 
=(n. k)15(n+1)<2·::;n(n+1l. k-l::-A}~9-) 

01IT11, 2'=32, 2'=64, 2'=128. 2'=25601Jl. 

n=6. 7•...• 15~ IT11 k~ {t.g. r.J-%1!]-~. 


n 5(n+ 1) n(n+1) k 
6 35 42 X 

7 40 56 X 

8 45 72 6 

9 50 90 6 

10 55 no 6 

11 60 132 6. 7 

12 65 156 7 


13 70 182 7 


14 75 210 7 


15 80 240 i 7 


,', a8=a9=alO=a12=a13=a~4=-a15==1, all=2 
I. 

:. L!an =Ox7+1x7+2x1=9 
n=1 

22. 	0ltR,,! - ;l:1*W*21 :snW* (311) ~ 85 

W9- y=log3x~ .::Li!Jl~~x~91 ~';-J..Q..£4'i'l-%. 


y~~ ~~E£ -2'ffij- n,!~OI%AI7,l .::L<'1l~~ 4 

E]-Yli::-~% .y=j(x)c} "B"}'l1 

l(x)=log.(x-4)-2 

01IT11, j(a)=201~ 


log. (a-4) :-2=2. 

log. (a-4) =4 

a-4=81 

:. a=85 


23. claRi! - !§~j!f :nH!! (3~)~5 

e~a a~a2X:)=(~) 
df'oJ{] ~'flllJ-~6101 x=O. y=O 01~~5Jl~ 7}AI 

al'l1 '6)J'€l C~a a~a2)91 "'I~'€l0l ~;I~"B"}AI ~} 
°F"B"}~ 

-a(l-a) -4(a+2) =0 
a'-5a-8=0 .............................................. Gl 
Gl~ 'R'i!!~% Dc} "B"}'l1 
D=25-4X(-8)=57>0 

°1E,S>- (j)g- Ai.!? cf~ -"F-1l-c% .Q-l::-cf. 

n:}c}Ai. -2-1!]-11<?91 -t!-lI"1l ~"B"}oj Tiir-e- 5'...e 11 

9- a~ {t~ ~.g. 5olcf.. 


~ 3 - 2015 -IY40 1- 9f! - ~'Et i! t;H~ 

24. OlaHi!! - .111 (311) ~ 36 

E(X)=O Xt+1X++3 Xt=l 

V(X)=O'x1.-t1' X 1.+32 x1.-1'=13 . 2 6 

:. V(6X +2)=6'xV(X)=36 


25. *~ 21~ 5!::xil aH~ '5"! - ~. (311) ~ 68 

. ~~I ~..<& ~oJI),i 'fIQlS>- 1!.1§!j~ ~ ~~ ~,,<&ol AI 

Zf<>r-e- A}{!% A. B12~ E]-Jl %.iiliir-e- A}{!%Bc} 
ii}'l1 

a 1 100-a 1 

peA) = 100 X40 + lO(j X20 


a 100-a 200-a 

= 4000.+ 2000 = 4000 


100-a 1 100-a 

p(AnB)=lO(j X20 = 2000 


. P(BIA)~p(AnB) 
., - peA) 

'100-a 

2000 200-2a 16 


= 200-a = 200-a = 33 

4000 


:. a=68 

26. *~ LfI~ ~~18lI~ si4 - *ii! (411)~ 770 


A=(~ ~), B=(~ ~)c} "B"}'l1 

AB=(a b)(c d)=(c(a+b) d(a+b))
abc d c(a+b) d(a+b) 

01IT11. a+b=n, c+d=nol~ ~'l1l AB~ 5'...e 
"<J~~ ~.g. 

2c(a+b) +zd(a+b) =Z(a+b)(c+d)=2n' 
.:. ~=2n2 

10 to 10 X 11 x 21 

:· ..Elan=EI2n2=2X 6 770 


27. *~ LH~ ~:Xil aH~ ~"! - ct!tW*21 ~~~ 
(411) ~ 120 


F(x) =f/(t)dtoJl Ai 

F'(x) =f(x)=x3-12x+m 

W9- F(x)7t .;;r9!~1!]- ~~%.£-"F- 7}Alal 'l1 W<? 
y=I(x)~ .::Li!Jl~7} x~1!]- Ais>- cf~ },~ ~oJIAi 'i'l­
40F~cf, . 
I(x) =x'-l2x+moJlAi 
j'(x)~3x2-12=3(X+2)(x:-2) 
1'(x)=0"1IAi 

x= -2 !E.-l::- x=2 
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••• °1~ w* l(x)-1::-x=-2oJ]J.-j ~9!it% ~.3l, (2~)·~®30. ~!t LH~ !i':xil aH~ 15&1 - t:t"~21 ~li!'l;I
x=2oJ]).1 ~%~i=-t:t. lim sin2x+tanx lim sin2x x 2+ lim tanx 
o]u:JI, w* y=/(x) 21 ::lt11~7r x4'i-:i'J- "'i.5l. ct.e J91 x-o x X~O 2x 'x-o x 

f,'.t(x)dx7r :tI:l!it% 7]-7-1 aj 'i'! W* y=I(x) 21 ::l 

(Hll~67 

. ~oJ!J.i'i:l-4-aj'i'! (~9!it)x(~'tit)<ool"i°l= 15r =2+1=3 
~ 

1(-2) x/(2) <0 

(m+16)(m-16)<0 

:. -:-16<m<16 
uj-i~H, ".15r-E Ar'?:!* m~ 1, 2, ... , 150 1.3l, ::l W 

~ 15 X (~+ 15) 12001ct. 

28. ~!t 21~ !i':X11 iiH'il15!!1 - AI~W~2f sL:l~~ 

IMll ~ 70 
~ A"lI).-j Alil-$1 {,lol 7r a(cm)'il -%l$1 %1l~l-Al$1 
:;<Jc171- 6a(cm)01.3l ~ A<>lI"'-j ~~1-oj 01 -%l$1 Yl 
If'-~l-Al Dl-~6 EO.'ilEj~ °1%"tr-E %31-% 'i'l--l!\-~ u:JI, 
01 %31-~ ~ 'li "tr-E tei] ~'i:! ~i/-Amol 0.8(~)01 

~~ 

0.8=k+0.510g(6: +1) 


0.8=k+0.5Iog7 ....................................... Gl 

~ AoJ1A-j Alil-$1 {,l01 7 l- mb(cm)'il-%l.$1~~l-Al 


$1 :;<Jc1 7 l- b(cm)ol.3l ~ AoJ]J.1 ~~l-oj 01 -%l21 

Yllf'-~l-Al Dl-~6 EO.'?lt=i~ °1%15r-E %"--f% 'i'l--l!\-~ 


u:JI, 01%31-% ~ 'li 15r-E te~~'i:! ~ifAJn°l1.3(~) 


°1~ 


1.3=k+0.510g(~b+l) .. ··········· ............·9 

1.9-6l% 15l-'i'! 

0.5=0.5{log(~b +1)-lod 

-1...+1 mlog-7-=1 

-1...+1 m 1
-7-=10, m +1=70 

. 1 
.. m= 69 


:. P=69, q=1 

:. p+q=70 


29. ~it 21~ !i':Xil aHiil15!!1 - ~7l1 (Hj) @W 175 
.0] ~oJ]A1 )Ml:501i=- %5l* ~ 71121 1f-711~ ~l;J! 
* XiO'f 15}'i'! X-1::- 7a-iTi!':-.!I'. N(250, 4')% uj-E.E.£ 
~21?~~ %5l* 471121 1f-71121 Ji-l":-~if% XiO'f 

151-'i'! ~Jt!*Xi=- 7a-iTi!':-.!I'. N(250, (~ )'). ~ 
N(250, 2')% uj-.ect. 


:. p(x< 9~8)=p(X<247l 


=p(z< 247;250) 

=P(Z<-1.5) 
=0.5-P(0~Z~1.5) 

=0.5-0.43=0.07 
uj-cfAl, "t1-~ ~-rr ~~~ '\'1'78501-1::- AJ"7.1-$1 711* 

-1::- 10~00 X 0.07=1750]ct. 

i!Jl~i=- ::l~:i'J- ~rF ~t:l-. 

3x (O~x<l) 
[I(x)= ax2+bx+c (l~x~2) 

x+3 (2<x~3) 

W* l(x)71-1I* ~"N {lW<>lV1 D]i!':-7]-'g-"trE..£ 
I(x)=ax'+bx+c (l~x~2loJ!"'i 
1'(x)=2ax+b 
j'(I)=2a+b=3·· .. ·.. ·.. ·.. ·.. ·· .. ··· .......... · ........ Gl 
1'(2)=4a+b=I ............ ··· .................. ···· .... · 1.9 
Gl, i.9% ,?:!;g151-"1 it'i'! 
a=-1, b=5 
~* l(x)=-x'+5x+ci=-x=loJ!-"1 ,?:!~o]E..£ 

x!i~/(x) =/(1) 

3=-1+5+c, c=-1 
:. l(xl=-x'+5x-1(1$x~2) 

:. M= f,'.t(x)dx·· 

=.f,'3Xd.t+ j2(-X'+5X-l)dx 

+ j,'(X+3ldx 

=[l..x']'+[ -.lx3+~x'-xl'
2 0 3 2 1 

+[+X'+3X]: 

=f+{(-t+l0-2)-(-++t-l)} 

+{(t+9)-(2+6l} 

67 
"6 

:. 6M=6x 6; =67 

1. 7l1~ 15E1 - ~:l:i!t ~~H.s 

A -2B=( =i ;)-2(_; 

=(-~ ;) 


uj-iO'fJ.-l, ~~ A -2B21 .2.~ "ili!':-21 w.g. 

( -4)+3+3+2=4°1ct. 


.:il3 - 2015 - UI//40 1- 9i - ~g 'iI 5H~ 

.[B~] 

(2~)~® 

f,\ex+2eZXldx- f, lexdx= j.12e2xdx. 

=[ e'X 1: =e'-l 

4. OliiH&1 - ij;;t\!!~:i!I ~:l (3~) ~ lID 

~7-l-Jt!¥!J~ 4-El-Yl-1::- ~~.g. (i _~ )ol.3l, 3111 

y=xoJ! t:Jl~ t:Jl7dJt!¥!- g~ 4-EfYli=- ~~.g. (~ .~) 
o]ct. W"ilJt!¥!-/og~4-EfYli:;:-~~~ 

(i -~)(~ ~)=(-~~) 
°1E..£ W"'c!l;J!¥!-10goJ] 21151-<>1 ~ (I, 2)71- .ir?-!:zl 

. ~21 ~li~ (a, b)iO'f 15t'i'! 

(~)=(-~ i)(~)=(~) 
:. a=7, b=O 

:. a+b=7 


5. OJ8II!!I - ~zt~~ 
.!f- 3111 y=x, y=2x71- x~~ 0J'~ "J"~3lj- °1~ 
zr~ 3.7]~ zrzr 81,8,iO'f 151-'ll 
tan81=I, tan8,=2 

tan8,-tan8!
tan8=tan(8,-81l 1 +tan8,tan8, 

~=.l.
1+lx2 3 


·2tan8 

:. tan28= I-tan'8 

1 2 
2X3' 3' 3 

= 1-(+)' = t =4 

6. 01811&1- ~E:I (3~) ~® 

la-bl'=lal'-2Iallblcos8+ Ibl'olE..£ 
5'=5'-2 x 5 x.4cosB+4' 
40cos8=16 
. 8 2 .. cos =5 

11 
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lim a.+2n-3 h.·m (a" +2-~).=0 
n- oo n n-IX> n n 

lim an = lim {( a. +2~~)-(2-~)}
n-oo ·n n-oo n n n 

= lim (a. +2-~)-lim (2-~)
n-(lO n . n n-oo .n 

=0-2=.-2 

~-3+2 
:. 	lim na.-3n'+2n lim n n,_00 2n'-3n' ,_00 2-~ 

n 
~2-3+0 5 

2-0 -2 

8. OISHi!!! - Olx~~ (3~] ~ CD 
~~AD£1 7]%7]7t-l0]~y=-x+a 

ctf:! .~ + ~ =1 "I]1l"5tJl7]%7]7t -1 ~ ~-@£1 
llFIl~.g. 

r---,-- ­
y=-x±jsX(-I)'+2 

=-x±(1O 

:. a=(1O (': a>O) 

:. A(o, (10), B(-/1O, 0), C(O, -/10), D(/1O, 0) 

0]«11, 

AD =j (0-/10)'+(/10-0)'=/20=2/5 

tr]-ej-A1, 78Wt"il ABCD£1 ~ 'i!l.£1 {l0]i=- 2/50]E. 

~ 9-"5ti=- \;jjo]i=- 2/5 x 2/5 =200]t:J-. 


9. OISHiII- DI~ogj (3~) ~ ® 
j(3x-l) =x'-x'+9oJiA1 
j(2)=j(3X 1-1)=1'-1'+9=9 
j'(3x-l) x 3=3x'-2x 

j '(3x-l)--'- 3x'-2x 
- 3 

j'(2)=j'(3xl-l) 3Xl';2Xl ~ 

g(x) = U(X)i!)- "5t'i'l g'(x) = {Jfk o]~ 
r 1J(2+Ii)-fJ(2j r g(2+h)-g(2) 
h~ h h~ h 

=g'(2) 
_ j'(2) 
- 2f1(2) 

1 
"3 1 

2x!9 18 

10.013HiII-Q (3~)~® 
~ 7H£1 ?At~~ 'd~ 6£1 ~~ 1,2,3, 6El ¥o] Y­

..2.. ;<lao .!.=20]rl 0]"" '" P7l 144'llj.@. *'-?<le ~~ 6 3 "'1. "'11, 't:!. r l...:.D =i l...:. 

"5\i::- ~~ a, n''Ll% :§:]~"5ti=- ~~ bi!)- "5tl'l 
~ P7t ~ A~ ~~]-Oj ~ llt1'l~ %ot *] .~ A 
"I] 5'.-3}"5ti=-7cl~ t:f%3!j- :Qt:J-. 
(i) a=2, b=l~ 7cl% 

,c,(t)'(-t)'=t 
(li) a=l, b=3~ 7cl4­

4Cl(tY(-t)'~ :1 
. (iii) a=O, b=5~ 7cl% 

.,Co (t)'(-t)'= 2!3 

rrblA-l ""'-"5l4. .,=0 '!'+JL+~~mO]rl
.... '-1 'I, -, rc..,= 9 81 243 - 243 '-1, 

11. 	Ol3H$1 - AI*tt*~ 5!:J.~* 
j(-I)=j(2)=00]~ 

. j(x)=a(x+ l)(x-2) (ai=- %9-)~ ~ 9- 'V,Ii-. 
j(0)=-10]~ 

a(0+1)(0-2)=-I, -2a=-1 
, 1,.a=2 

.·.!(x)=t(X+1)(X-2) 

iogt 1j(x)12-1oJi A1 


~:J..Q1 -B9- JO:(JoJi £1"5t9 Ij(x) I>oo]~ 


1~(X+l)(X-2)1>0 
:. x*-I, x*2 


iOgtl~(X+l)(X-2) 12 -1"1]A1 


1~(X+l)(X-2) 1:0;2 


-2:O;t(X+ l)(x-2):O;2 


-4:O;x'-x-2:O;4 

(i) x'-x-22 -4"1]A1 

x'-x+220 
x'-x+2=0£1 't!-\\!~% Di!)- "5tl'l 
D= (-1)'-8< Oo]~ £{§-1!9- x"l] t:jJ"5t9 
x'-x+2>00]t:J-. 

(il) x'-x-2:O;4"1]A1 

x'-x-6:O;O, (x+2)(x-3):O;O 

:. -2:O;x:O;3 


rrJ-i!)-A1,?0l-B-¥-%~£1 ~i=- -2:O;x:O;3, X'~-c:-l, 
x*201~ 9-"5ti=- 78"? xi=- -2, 0, 1, 3~ 47fl 
o]t:J-. 

12. *tt LII~ ~Xil tH'r.!I 8$1- Dlfi!ogj (3'{;l) ~ ® 
y=sinxsin2:t-cos2x-l 

=sinx(2sinxcosx) - (2 cos'x-l)-1 

= 2 sin' x'cos x-2 cos' X 

=2(I-cos'x)c~sx-2cos' x 

= -2 cos'x-2 cos' x+2cosx 


0]«11. cosx=t (-I:O;t:O; I)i!)- "5tl'l 

j(t).= -2t'-2t'+2toJiA1 

j'(t) = -6t'-4t+2= -2(t+ 1)(3t-l) 

j'(t)=ooJlA1 


t=-I3:.i=-t=+ 

W"? j(t) £1 %7t~ ~J::~ JE.£ Y-EJ-tfll'l t:f%3!j- :Q 
t:J-. 

1t -1 ," ." 1
3 


j'(t) 0 + 0 ­

jet) -2 / 10 ". -227 

13. OI8Hi!!!- .DI~ogj (3'{;l)~® 

tane=+o]~ -3j-@ I £1 '%78~.g. 

y=..!.x
3 

~9- j(x)=-x'+x£1 .:li'Jl~~ -3j-@y=+x£1 .liL 

~£1x~J!.i=-

-x'+x=lxoJiA1
3 

x'_2x=0
3 

~x-t)=O 
, -0""'- _2 .. x- =-cx-"3 

~'t!.f'(x)=-2x+l°]~ ~ (t, %)"I]A1~-@ 
y=j(x)oJi 1l"5\i::- -3j-@£17]%7]i=­

j'(2)=(-2) x2+ 1=_l
3 3 3 
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14. *It LlI~ If;Xfl sUiI 511- llIti.!'CI(Hll (jiJ ® 
'3Hi /.91 '!f~61-f:- y= (tan O)xol~ .;;;r{! y=f(x) 
.2]- '3j{!I.91 .ii!.~£1 xi£}JEi=­
-x'+x= (tanO)xoJ1J.~ 

x(x-IHan8)=0 

:. x=o .!Ei=-x=I-tanO 


(l-tanlJ 2 

:. S(O) =)0 {(-x +x)-(tane)xldx, 

. (l-tanlJ
=)0 (-X'+(I-tanO)xldx 

=[ _l...x'+!..(I_tanO)x,],-tanO
3 2 0 

= -l...(l-tariO),+l...(I-tanW
3 2 

=l...(I-tanO)'
6 


. I' See) _1 I' (I-tane)'

" 1m -()'-- 1m --­

o-f-o f-O 6'-f-o f-O 
oltrJl, f-O=tiOJ- "5"}\1 O=f-t 


O-f-OOI\1 t- +00 12, 


tanO=tan(!!...-t)= I-tant 01~ 
, 4 I+tant 

I_I-tant 

I...,tanO 1+tant 2tant 


t t(l+tant)
f-O 

.·.Iim~ 
o-f-o (1.-0) 

--_1 I'1m (I-tane)' 

6 0-f-o !!...-8 


4 


1 r { 2tant )'

=61!.Wo t(I Han t) 


=1... lim (tant)' x lim ( __2_)'

6,-+0 t I+tant1-+0 

=1... x I'X 2'="£ 
6 3 

15. Af;! 171!!j!j- ~Y.I 

16. Af;! 181!!~ ~iI 

17. OltHi1 - Olxf,1f{:1 (HlJ~® 

»-.{.;;;r{!£1 ~.91ojl.91-.5}oj PF-PF'=2°1~ 

PF=PF'+2 

AP+PF=AP+W+2~A?+2 '. 

~'P7} {!~AF'~9jJ ~% '1111' ~*it 8% 7}Al~ 


AF'=6 


011111. ~.;;;r{! x'-~ =1.91 ~~.91 i£}JEi=- F(2, 0), ' 


F'(,.--2, 0)01~ 


AF'='/(0+2)'+(a-O)2=ja2+4 
:. a2+4=36 
:. a'=32 

(3x-3yH-k=O J.to]£1 rJi!l{:; 
l(3xO-3xOH-kl <1 " 
, N3')'+(-3)' 

16-kl-;;'2(3 
-.2(3-;;'k-6-;;'2(3 


:.6-2(3-;;'k-;;'6+2(3 


lI}iOJ-Ai, 4l~ XC· AP.91 ~9!it M=6+2(3, ~ 

~m=6-2(3°1q. 


:. Mm=(6+2(3)(6-2(3) =36-12=24 

18. Ml 191!!~ ~'i! 

19. *It 21ll1lf:Xll aNii si1 - ~;>II [HI] ~ @ 

'l!!.e 'tl7H.911f-:>lI~ Q~* XiOJ- -.5}\1 Xi=- "!l'iT 
~& N(m, 162)% lI}~ 3.717} 4~ JE~.91 JE 

~ ~i1- Xi=- ~'iT~&N(m, (~ )'). ?f N(m, 82 ) 

% lI}.eq.. 011111, 47H~ ~.91*iS}oj ~.e 'l!!.e ~ 
"'.{A}.911f-:>l/7}3360g 01~~ Qol 0.o66801~ 

p(X-;;' 33460)=p(X-;;'840) 

=p(Z-;;' 840;m ) 

=05-P(0<Z<- 840-m). - - 8 

=0.0668 

:. r(o-;;,z-;;,- 840;m)=O.4332 


_ 840-m =15 

8 . 


:. m=852 


20. OI8Hi1 - IJIIEI 
y 

A 

B'---""-I-"'---->C 

-%1 0.91 ~1l% ~~~ "5"r2 , ~ A7r y4r ~ojl ~ 
£~ 1fzt"!l ABC.2]- fJ. O~ i£}JE~'i'! ~oJl1.fE}41 
A}. 1fzt"!l ABC{:;'tl ~.91 ~ol7r 2(3~ ll1fzt"!l 
012, -%1~.g.1fzt"!l ABC.911f-:>lI%1lo1~ 
A(O, 2), B(-(3, -I), C«(3, -1) 
-%10 ~~%'3j°l{:;~ P.91 ~JE%(x,y)e}~\1 
XC=«(3, -1)-(0,2)=«(3, -3) 

AP=(x,y)-(O,2)=(x,y-2) 

XC· M=«(3, -3) • (x, y-2) 
=/3x-3(y-2) 

=(3x-3y+6 

oltrJl, (3x-3y+6=ke} -.5}\1 ~ P{:; -%1 x'+y'=1 
~.91 ~01~ -%1.91 %1li!f '3j{! 

x 

y 

P(cOSJrt-I, sin Jrt) , Q(2-2cosJrt, 2sinJrt) 
olE..£ :J.ifli!f :Q-ol f ~. P, Q9jJA~ x4r9JI 4l'l':! * 
{f.91 ~% ztzt P', Q'oliOJ- -.5t'i'! 
P'(cos Jrt-I, 0), Q'(2...,2cosJrt, 0) 
S(t)=(A}zt"!l PP'Q'Q.91 ~oD 

-(£"!I PP'O.91 ~oD-(1fzt"!l QOQ'.91 ~oD 

=t(sin Jrt + 2 sin Jrt) 

x (2-2 cosJrt-(cosJrt-I)} 

-(l...Jrt-l...sin trt cos 7rt). 2 2' 

-tx 2 sin 7rt(2-2cosJrt) 

=i-sin Jrt(I-cosJrt) -tJrt 

+tsin Jrt cos Jrt-2 siD. Jrt(I-cos Jrt) 

=isin7rt (1 ..., cos ;;t) +tsin Jrt cos Jrt-tJrt 

=isinJrt(I-cos Jrt+tcos Jrt)-tJrt 

=isinJrt(I-tCOSJrt)-tJrt 

S'(t) =fJrCOSJrt(I-tCOS7rt) 

+~sin trt x ..£71' sin Jrt-l...7r
2 5 2 

:. S'(t)=fJrcosf(I-tcosf) 

+~sin!!... x~7rsin!!...-l...7r 
2 3 5 3 2 

=1.Jr+1.Jr -1...71 =..L71
4 2 2 4 

22. ;>II~ si1 - 'Y~.l.I~ .IjlS.l.I (3~) ~ 17 

x2+14 >2<>1lA~ 
x2-2x+I 

x2+14-2(x2-2x+ 1) >0 


(x _1)2 


-x'+4x+I2~0, x*I 
x2-4x-I2-;;'O, x*I 
(x+2)(x-6)-;;'O, x*l 

:. -2-;;'x-;;'6. x*I 
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u:f2J-"i. 9':oJ~~~ 't!-~"171-E- ~4- X-E- -2, 
-1, O. 2.3. 4.5•. 601.:il.::1~,g, 
(-2)+(-1)+0+2+3+4+5+6=1701eJ-. 

23..9Iat1!!!1-U (3~) ~ 21 

5C3(-}),(-H~lOX(-})5=:6 
:.P=16. q=5 

:. p+q=21 


24. OI!H!!!! - i!m£~l!I i!m~R (3~) ~ 7 
il-2f"il ABC£1 ¥-llhNl GQ] ~.R-E-

( -1-2+a 1-4+a+ 1 0-5+a.-2) 
3 ' 3 ' 3 

"" (a-3 a-2 a-7)
-=;' .. -3-; -3-' -3­

~ G7j-xy~'i!!. -?1£1~olE.5!. 
a-7 . 
-3-=0 

:. a=7 

25. 	OI3H!!!I - ~'il:!l!I z;,w (3~) [WJ 31 

f(l)+/(3)+j(5)+j(7).=12~ 't!-~"171-E-7;j~ 

f(l),j(3).!(5),j(7)£1 ~l 


(1, 1, 3, 7), (1, 1, 5, 5), (1,3, 3, 5), (3, 3, 3, 3) 


~£1 15j-4£1 i.t% ~-E- 7;j~01eJ-. 
(i) (1, 1, 3, 7) .'E-E- (1,3, 3, 5)~ 'iJ~-"'- HH'll.15t-E­. . 

7;j~£1* . 

4!
2f X2 =24 

(ti) (1,1, 5, 5)~ 'iJ~-"'- HH'l:! 15t-E- ~~£1 * 

4! 


2!2! =6 


(iii) (3,3,3, 3)% 'iJ~-"'- HH'll.15t-E- ~£1 * 

il=l
41 

trJ-e}"l, Ti5t-E-'1f4- jQ] 7H* 24+6+1=3101eJ-. 
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26.; At! 28\!!l!I tfil (Hll ~ 70 

27. 	OlilH!!!I - ~~~l!I ¥~~ . (4~) ~ 4 
x'-4x+Zn=0£1 'i'!-~6J% De} 15j-'i!!. 
D . 
T=4-2n 

01E£.n>2~1I]] x'-4x+2n>001eJ-. 

(i)n=l~ 11]]. 


(x-n)(x'-4x+2n) <0"1l""1 

(x-1)(x'-4x+2)< 0 


(x-1)(x- (2~/2)}(x- (2+/2»)< 0 


x<2-/2 .'E-E-l <x<2+12 

:. A,=(2, 3) 


(ll)n=2~ 11]], 
(x-n)(x'-4x+2n) <0"11""1 

(X-2)3<O, x<2 


.A,=(I) 


(iii)n:2:3~ 11]], 


(x-n)(x' -4x+2n)<0"11""1 


x'-4x+2n>OolE£. 

x-n<O,x<n 

:. An={I, 2, 3, .... n~I} 


trJ-e}"i,A,=(I, 2)ol.:il, n:2:4~ 11]] ~~ An£1 ~ 


±£1 7H*3 °l~oleJ-. 


(i), (ll), (iii)oJl £115foj T15t-E- 7.j-'i!!.4- n,g, 1, 301.:il, 

::I ~.g. 401eJ-. 

28. *~ LH~ ~Ail ilH~ 5"'1 - *'il:! (4~) ~ 48 

2f-~. (2,0), (n, logkn)~ 7.14-E- 3Jkl£1 71%7J7t 

~.!i!-eJ-3]-~4'"{[~
2 

logkn~O <~ 
n-2 - 2 

n-2iogk n::S:-2­

"-,
n::S:k'-­

:. n2 :;;.kn- 2 


n=3~ rrH, 3':;:1,°151.-"'-/(3)=9 


n=4~ rrH, 4':S;k'olE.5!./(4)=4 


n=5~ rrH, 5':S;k'°1E.5!.j(5)=3 

n=6'iJ rrH, 6':S;k'olE.5!.j(6) =3 


n=7'iJ u:j], 7':S;k'olE.5!.j(7) =3 


n=8~ nJl, 8'::S:k'olE£.!(8)=Z 

n=9~ nJl.9'Sk'olE£./(9)=2 

n=20'iJ u:j], 20':S;k'80 15l.-"'-j(20)=2 

:. fj(n)=9+4+3X3+2X13=48
n=3 

29. A~ 30\!!l!I ~iI (4~) ~ 67 

30. *~ LH~ ~Ail ilH~ 5"'1 - ~~£tll!l ~~~R 

(4~)~9 

::I'E!.'il} ."{[ol xy~'i!!..'il}~'i!!. a7j- 0llf-i=- Zf~ 8" xy 

~'i!!..'il} ~'i!!..871- °llf-i=- zt% 8,e} 15j-'i!!. 

8,+8,=1- ................................................ Gl 

.'E, 2f- ~'i!!. a, P"11 £1i5j-oj T7j- ~2;j""1 ",ll71-E- ~Q] 


't!'Al~£1 7,l,°1~ ztzt r" r,er i5j-'i!!. 

r,'=i- (3 sin 8,)', r,'=2'- (3 sin 8,)'0IE£. 


S,+S,=7r(r,'+r,') 

=7r(8 -9(sin2 (jl +sin2 8,») 

=7r[ 8-9 [1-1-(COS 2(j,+ cos 28,)}] 

=7r[-1 +t(cos 2(j,+cos 28,) } 

=7r[ -l+t{COS281+COSe; -2(1)}] 

( Gl) 

=7r{-1+t(COS 28,--}cos 28, 

+ !z3Sin28,)} 

=7r{-l+t(1-COS2(j,+ ';Sin2(jl)} 

=7r[~ 1+tsin(f+2( 1)} 

u:j-c}"i. S,+S,Q] i1::l!i.t.g.f+ 2(j,=f, ~8'=f 

~1I]]t7rOleJ-. 
:.P=2, q=7 
:.p+q=9 
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